Efficiency vs P,

0.1

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Ja)

..........................................
..........................................
.........................................

................................

VS

[y

0.95

107 1 10 102

—=— DQM_TT__mkFit-DQM_init_orig
—e— DQM_TT__mkFit-DQM_init_mod

0.09
0.08
0.07
0.06
0.05]
0.04

0.03E{ {HHEL A1 1 - bt

0.025 1 {F |- Tt 4Tl -ttt -
0.02 - {HHAHE 1 AR -H - g5 e
A |
0.95% 3

Efficiency vs ¢

0.05

0.045
0.04
0.035

TITT T[T I T




	Contents
	Page 1


